V=279

() *
1.
JASS5NY ( 45  65%)
2 (80%
120%)
2.
2.1
( 10°% 10%sec)  Split Hopkinson Pressure Bar ~ ( SHPB
) ( 10°  10%/sec) SHPB
2 3
2.2 -1
(  3.16) w/c |28 f.| s/a (kg/m?3)
JASSEN @ | (wa) | ) | ¢ W G S
45 50 |[53.3| 373 168 932 | 824 | 6.53
-1 50 40 |[53.4| 336 168 950 | 837 | 5.38
( WIC)  45% 120% 60 35 [53.5| 267 | 160 | 992 | 874 | 2.86
24 60 35 |[53.5| 280 168 | 974 | 858 | 4.48
65 30 |[50.5| 249 | 162 | 947 | 940 | 2.66
(20 ) 80 14 | 54.9| 210 | 168 | 1034 | 858 | 3.36
10cm 20cm 100 10 |55.7| 168 | 168 | 1067 | 858 | 2.69
10cmx 10em 120 6 56.3 | 140 | 168 | 1091 | 858 | 2.24
8cnx 8cm 3 0 Wy | /)
O 2w O 6% K
10cmx 30cm 01 Ows @ 6o —
A sw A s \(3) e
3. o0 H VY 6% N 45 S - _'_
3.1 % ___.é,:--_»é:':'%_" ] oA -3_'§7_
L S .- O~ TP A AR 4
-1 10Y/sec © & ; ?-Sg""é 1
L - | — AT ‘
10%sec 2 3 o lpd -
=1 -
2 ® B [@ |9
0 1T R FEETETT Ew ---m
( ) eco 10 10 10 10 1(()/590) 10 10 10 10
1) ,.f,/f)=(12"10°10) -1
fcd fcs e
f,/ fo=PxogE/e, )+1.0, e£10/sec (€Y
WI/C 60% (1) 10"/sec
P 2 10%sec P WIC
W/C P WI/C  65% A WIC 65%
WIC 65% B @
P(W/ C)=0.111- 1.144(W/C - 0.65)%, 0.45£W/ C£0.65 P(W/C)=0.111,0.65<W/ C£1.2 @
2 P ©)
*  270-1194 1696 ( ) 0471-82-1181
-558— RSO RIFE R AN S  CEAk 134104 )



V=279

f,/ f.=PW/C)xoge/e,)+1.0,6E£12/sec s L
=9xAW/ C){log(e/e,)- 5.333] +1.0,e >12/sec (3 o0 H_ —o[
W/C 60% P P = o0,
-1 (3) 0.06 / Pz_l'144(W/C_?66451§<W/'cl<101 65)
’ /" P=0.111 (0.65<W/C<1.2)
o.00 “—rl—?> .
3_2 0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4
)
-3 10Y/sec -2 P
60,000 I I(\IN;(;I)T
10%/sec 50,000 [ 1c:)| 1001 2 ped
10Y/sec - cu B2l ,?
‘é 40,000 | T ! ' ! / I_‘_ & aﬂ
@ e . T
(e,,E,/E)=(12"10°10) Ecd %0.000 v Sl _5;—_' B—
Ees 20,000 | %——/'%”Qj 7 8
E,/ E.=QXog(e/é, )+1.0, e£10"'/sec ) e b ,
Q P Q 10 10 10 10 1(()/58(:) 10 10 10 10
WI/C 65% W/C 65% -3
W/C 65% ©)
Q(W/C)=0.0365- 0.505(W/C- 0.65)% 0.45£W/C£0.65 Q(W/C)=0.0365,0.65<W/C£1.2 )
©) Q (6)
E./E.=QWI/C)XogE/e,)+1.0e£10°/sec
-3 (6)
3.3
-4 10%/sec 0o -
@ €,.f,/ f) =(20" 10°,1.0) ()
70 L1 O 6m
fid fis éto ( o | O s ﬁ/ -7
) S 6.0 A g /ﬁ%
f,/ f.=RAog(e/e, ) +10, &£102/sec ™ HES - gg
R wic B oo
R 3.0 -6 “—5 I“IA I“I—S I“—Z
10 10 10 10 10
(8) (/sec)
-4
f,/f.=01374og(e/e,) +1.0, e£107*/sec ®)
-4 (8)
4.
JASS5N (80 120%)
5.
1) JASSEN( ),1991
2 : Vol .47A, 2001.
3 , Vol.44A, 1998,
-559- TR FE6EIE R TS CER34E10H)



